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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks)

1 (a) Define Bond Duration

Duration is a measure of the sensitivity of the price of a bond or other debt
instrument to a change in interest rates. A bond's duration is easily confused
with its term or time to maturity because they are both measured in years.
However, a bond's term is a linear measure of the years until repayment of
principal is due; it does not change with the interest rate environment.
Duration, on the other hand is non-linear and accelerates as time to maturity
lessens.

(b) Calculate the value of the bond with semi- annual interest from the
following data:
A bond has a par value of Rs 1000
It bears a coupon rate of 10%
The bond maturity period is after 8 years
The required rate of return on the bond is 12%
Payment of interest is semi- annually.

(¢) Anand owns Rs 1000 face value of bond with 5 years to maturity. The Bond
has an annual coupon of Rs 75. The bond is currently priced at Rs 970.
Given an approximate discount rate of 10%. Should Anand hold or sell the

bond? -
2 (a) The Beta of the stock is -1.8. What does this mean?

A negative beta correlation means an investment moves in the opposite
direction from the stock market. When the market rises, a negative-
beta investment generally falls.

(b) Explain the concept of market value and intrinsic value of the bond
The intrinsic value of a business (or any investment security) is the present
value of all expected future cash flows. ... Another way to define intrinsic
value is simply, “The price a rational investor is willing to pay for an
investment, given its level of risk.”

Market value refers to the current or most recently-quoted price for a

market-traded security. It can also refer to the most probable price an asset,
like a house, would fetch on the open market
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(c)

3 (a)

(b)

(©)

4 (a)

The annual rates of return for the Jarvis Corporation and the market return
(index) are given below:

Year | Return of Return on market
Jarvis ( Index)

1991 -5% -6%

1992 14% 16%

1993 10% 12%

1994 12% 14%

1995 17% 20%

Calculate beta coefficient and Alpha and analyse it.

What is Callability risk?

A callable bond is a debt instrument in which the issuer reserves the right to
return the investor's principal and stop interest payments before the bond's
maturity date. Corporations may issue bonds to fund expansion or to pay off
other loans. If they expect market interest rates to fall, they may issue the
bond as callable, allowing them to make an early redemption and secure
other financings at a lowered rate. The bond's offering will specify the terms
of when the company may recall the note.,

Alpha of a stock is 3.72, Beta is 0.99 and market return is 13.5%. What is
the expected return of the stock?

A Company issues bond at 10% coupon rate, and with a face value of Rs
1000 maturity period is 10 years. Required rate of return is 10%. Determine
the value of the bond when the time period is 1) 5 yearsii) 15 years.

Part B - Compulsory (01¥10=10 marks)

Calculate current yield, yield to call, and yield to maturity from the
following data:

The face value of the bond is Rs 100

Interest on bond is 14%

It matures at par in 15 years

It is redeemable ( callable) in 5 years

The call price of the debenture is 5 years is Rs 114.

It currently sells at Rs 105.
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